
Giải toán lớp 5: Đáp án bài 3 trang 24 SGK Toán 5 tập 1 

HỌC TẬP - LỚP 5  - TOÁN LỚP 5 

Bài 3: Điền dấu <, >, = vào chỗ trống? 

2 kg 50g ... 2500g 

6090kg ... 6 tấn 8kg 

13kg 85g ... 13kg 805g                

 tấn ... 250 kg 

Đáp án 

2 kg 50g < 2500g                       

6090kg > 6 tấn 8kg 

13kg 85g < 13kg 805g               

 tấn = 250 kg 

 

https://doctailieu.com/dap-an-bai-3-trang-24-sgk-toan-5-tap-1
https://doctailieu.com/hoc-tap-c106
https://doctailieu.com/lop-5-c171
https://doctailieu.com/toan-lop-5-c172

